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[IpaxTuka cinoxenus (0) Nwmst:
Pemure kaxayr 3axauy.
6+0=_ 9+0= 8+0= 1+0=_
4+40=_ 10+0= 240=_ 7+0=__
340=_ 540=_ 9+0=__ I+o=__
740=_ 8+0= 240=__ 3r0=__
4+0=_ 10+0= 6+0=__ 5+0=__
1+0=__ §+0=_ TH0=_ or0=__
3+0=_ 2+0= 4+0=__ 5+0=__
6+0=_ 10+0= 2+0=__ HO0=__
1+0=__ 10+0= 9+0=__ THO=__
g+0=_ 3+0= 6+0=__ 4r0=__
6+0=_ 9+0=_ 3+0=_ 240=_
540=_ 10+0= §8+0=__ 1+0=_
7+0=__ 4+0= I+0=__ 6+0=__
3+0=_ 8+0=_ 9+0=_ 10+0=
7+0=_ 4+40=_ 240=_ 54+0=
5+40=_ 6+0=_ 9+0=_ 10+0=
1+0=__ 340=_ TH0=_ 240=__
§+0=_ 4+0=__ I+0=__ S
3+0=_ §+0=_ 440=_ 240=_
7+0=__ 6+0=__ 10+0= 9O+0=__
7+0=__ g+0=__ 10+0= 9+0=_
1+0=_ 4+0=_ 540=__ 240=_
3+0=_ 6+0=__ 5+0=_ 1+0=_
3+0=_ 10+0= 8+0=_ 2+0=_
440=_ 9+0=_ 7+0=_ 6+0=_
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IIpakTuka cinoxenus (0) Nwmsi: K104 K NPaBHILHbIM OTBETaM
Pemure kaxayr 3axauy.
6+0=_6 9+0=_9 8+0=_8 1+0= 1
4+0= 4 10+0= 10 2+0= 2 7+0= 7
3+0= 3 540= 5 9+0= 9 1+0= 1
7+0=_7 8+0=_8 2+0= 2 3+40=_3
4+0= 4 10+0=__10 6+0=_06 540=_5
1+0= 1 8+0=_ 8 7+0=_7 9+0=_9
3+0=_3 2+0=_2 4+0= 4 540=_5
6+0=_06 10+0=__10 2+0=_2 540=_5
1+0= 1 10+0=__10 9+40=_9 7+0=_7
8+0= 8 3+0=_3 6+0=_6 4+0= 4
6+0=_6 9+40=_9 3+40=_3 2+0=_ 2
540= 5 10+0= 10 8+0= 8 1+0= 1
7+0= 7 4+0=_4 1+0= 1 6+0= 6
3+0= 3 8+0= 8 9+0= 9 10+0= 10
7+0=_7 4+0= 4 2+0= 2 540=_5
540=_5 6+0=_06 9+40=_9 10+0=__10
1+0= 1 3+40=_3 7+0=_7 2+0= 2
8+0=_8 4+0= 4 1+0= 1 540=_5
3+0=__3 8+0=_8 4+0=_ 4 2+0= 2
7+0=_7 6+0=_06 10+0=__10 9+40=_9
7+0=_7 8+0=_ 8 10+0=__10 9+0=_9
1+0=_1 4+0=_4 540=_5 2+0=_ 2
3+40= 3 6+0= 6 540= 5 1+0= 1
3+0= 3 10+0= 10 8+0= 8 2+0= 2
4+0= 4 9+0= 9 7+0=_7 6+0= 6
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